29022 43 HIE R B L

7= miiEA

M
%4,
B 124 DIN 7984 M/SARF DIN 985 , 4N,

A
KLNXBITELE,
BERERIRRFASARS,

BEER
BTEENREN,

R4 -
BFEMAFEE 29050.

= |

@he
v

=

—~
~

Q
a2\ A\
O\ /O

29022-52020 A 20,1 - 53 40 80 33 60 22,5 M8x25
29022-52525 A 251 - 53 40 80 33 60 22,5 M8x25
29022-53030 A 30,1 - 53 40 80 33 60 22,5 M8x25
29022-54040 A 40,17 - 73 56 120 40 94 32 M10x30
29022-55050 A 50,22 - 84 66 140 45 114 38 M10x35
29022-56060 A 60,27 - 103 80 150 58 118 47 M12x45
29022-53025 B 30,1 251 53 40 80 33 60 22,5 M8x25
29022-54032 B 40,17 32,15 73 56 120 40 94 32 M10x30
29022-55040 B 50,22 40,17 84 66 140 45 114 38 M10x35
29022-56048 B 60,27 48,27 103 80 150 58 118 47 M12x45

© norelem www.norelem.com



29022 43 HIE R B L

© norelem www.norelem.com



